
Petzite (Ag3AuTe2) Structure:
A3BC2 cI48 214 f a e-001
This structure originally had the label A3BC2 cI48 214 f a e. Calls to that address will be redirected here.
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Prototype Ag3AuTe2

AFLOW prototype label A3BC2 cI48 214 f a e-001

Mineral name petzite

ICSD 27539

Pearson symbol cI48

Space group number 214

Space group symbol I4132
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2a ŷ + 1
2a ẑ

a3 = 1
2a x̂ + 1

2a ŷ − 1
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Basis vectors

Lattice
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Atom
type

B1 = 1
4 a1 + 1

4 a2 + 1
4 a3 = 1

8a x̂ + 1
8a ŷ + 1

8a ẑ (8a) Au I
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8a ŷ + 1
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8a ŷ − 1
8a ẑ (8a) Au I
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B13 = 1
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(
x3 + 1
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a2 + x3 a3 = ax3 x̂ + 1

4a ẑ (24f) Ag I
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2a ŷ + 1
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(
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4a x̂ + ax3 ŷ (24f) Ag I
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= 1
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